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8) A system analyst has been employed by a council to produce a new computer based system to replace the system currently running their central lending library. Other than observation, describe two methods the analyst could use to investigate their current system. [2x3]13 / 11 / 2015

To investigate the existing system, it is inevitable for the analysis to discover the many facts about the council and its task that the new system needs to do.
	For once, the analyst could try the Interviewing approach. This is where they must interview the operational staffs, managers, or users about the present system. 
Whilst interviewing the managers, the analyst can find out how the department works overall and detect current problems within their system. Of course, the analyst needs to identify what they want the new system to do and what data is processed and what information is produced
Interviews with operational staff that runs the system daily may be able to supply fine detail on how their current system works, thus bringing to light of information not thought of before. Expanding the knowledge of the analyst
Although the deficiency in the interview approach may perhaps be very time consuming. The discussion itself could vary for prolong intervals, as a lot of people need to be contacted. It is required to hire skilled interviewers to get the precise and truthful information out of people. Nevertheless, they can ask different levels of questions to different people and interrogate with flexibility until the analyst has the full picture of the current system.

Another method is using questionnaires, or form of surveys to the library managers, staff or customers to gather information on the company
It is much quicker to get the fundamental information about the company through questionnaires, as the analyst would not require to being present. Therefore no time is wasted with face to face conversations
In favour of this, the people filling in the questionnaires can take their time over their answers. 
In the perception of the analyst, this methodology of investigation will allows quick statistical analysis of responses to conjure quantifiable assessment of the investigation.]

Although weaknesses of questionnaires being the inaccurate response which results in the analyst not attaining the precise knowledge. Workers however, may misinterpret the meaning of the questions and give misleading responses; which may affect the overall investigation. The customer may not be truthful and would not understand the meaning of this questionnaire as it would only waste their time, in addition if the questions are about the existing system; they would not have an ounce of idea because of convolution technical terms. Another problem is that people forget to fill them in and response rate from posted surveys is often poor.

10) A doctors’ practice has installed a new computer system to help run the practice
Once this system is up and running, it has to be maintained. Describe three different methods of system maintenance and illustrate each method with appropriate examples 								[3x3]

i. Perfect maintenance – is where they are improving the performance of the software. Such examples include the fact that software may need to be modified to improve the user interface upon feedback from doctors who are finding it more difficult to use than it needs to be. Or performance wise, configuring the network management software to improve performance such as improving access times to data, speed at which reports are produced, and thus allows the doctor to complete the task at hand.

ii. Corrective maintenance – discovering the technical bugs in the installed software which were not discovered during testing may need correcting. An instance being a piece of software may crash when used with a particular item of hardware, such as the doctor’s measuring equipment which should provide real-time reading from their practice. Or with the software, because there is problem with the doctor’s reports from the practice not being printed out properly. This maintenance is carried out to ensures that there would be no more occurrence of error.

iii. Adaptive maintenance – software may need to be changed owing to the changing needs of the doctor’s capabilities. Maintenance for adapting the software to work with newly developed operating systems software or new hardware, because of a change in legislation that certain systems need altering. The hospital expands so the software needs to be altered so it is able to cope with an increased number of users/departments/functions/branches, etcetera.
Software may need altering so that it is more flexible in supplying the managers with information which was not envisaged at the time of
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12) A company has installed a new ICT system which will have to be maintained. Describe two different methods of system maintenance, illustrating each method with an appropriate distinct example. 					[2x3]

i. Perfect maintenance – is where they are improving the performance of the software. Such examples include the fact that software may need to be modified to improve the user interface upon feedback from staffs who are finding it more difficult to use than it needs to be. Or performance wise, configuring the network management software to improve performance such as improving access times to data, speed at which reports are produced, and thus allows the staff to complete the task at hand.
ii. Adaptive maintenance – software may need to be changed owing to the changing needs of the doctor’s capabilities. Maintenance for adapting the software to work with newly developed operating systems software, because of a change in legislation that certain systems need altering in such cases, as news of an emergence of a new virus threat for supermarkets means that their software will need to be adapted to protect against this. The supermarket expands so the software needs to be altered so it is able to cope with an increased number of users/departments/functions/branches, etcetera. 
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4) A system analyst has a choice of direct changeover or parallel running when updating a computer system. Describe these two different potential changeover strategies and describe the advantages and disadvantages of each of the different strategies [6]

Direct changeover – the implementation of halting the use the old system one day and start using the new system the next day.
The limitation of this is the element of risk, particularly if the hardware and software are cutting edge; consequently if the system fails then it can be ominous for the business.
Compensations of this comprise the requirement of fewer resources (people, money, equipment) and are moderately straightforward, provided nothing goes wrong or any fault or factor of human error.

Parallel changeover – Where the previous ICT system is run in conjunction with the new state-of-the-art ICT system for a period of time until all the people involved with the new system are content that it is working correctly. 	
The limitation of this is that a tremendous amount of unnecessary work (as the work is being done twice) and is therefore expensive in people’s time/work/equipment.
Despite the fact that parallel changeover has disadvantages, it also has benefits; such as putting in comparison of the results and be sure it is working properly, thus it is used to minimise the risk in introducing a new ICT system so precipitously and allows the operational staffs time to adjust.
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13) A system analyst is investigating a company with regard to creating a new ICT system. Describe three methods she would use to gather information about the existing system. 									[9]
To investigate the existing system, it is inevitable for the analysis to discover the many facts about the company and the task that the new system needs to do.
	For once, the analyst could perform a systematic inspection of records within their archives. This is where she must study the paper based information / electronic logs produced by the company about the present system. Through the log, she can look for faults in procedures.
Whilst inspecting the records, the analyst can find out how the department works overall and detect current problems within their system, deciphered by all information provided. Naturally, the analyst has access to staff CVs which shows the skills and training needs of an employee.
Documents include organisational charts, manuals, reports, minutes of meetings and all documentation. may be able to supply sufficient detail on how their current system works, thus  expanding the knowledge of the analyst as it bestows the way it is communicated between different departments or customers and the company, in such cases as policy/procedure manuals. Allows one to see what information is currently heldasdfghjklLooking for faults in procedures

Another method is using questionnaires, or form of surveys to the library managers, staff or customers to gather information on the company
It is much quicker to get the fundamental information about the company through questionnaires, as the analyst would not require to being present. Therefore no time is wasted with face to face con2versations
In favour of this, the people filling in the questionnaires can take their time over their answers. 
In the perception of the analyst, this methodology of investigation will allows quick statistical analysis of responses to conjure quantifiable assessment of the investigation.]

Although weaknesses of questionnaires being the inaccurate response which results in the analyst not attaining the precise knowledge. Workers however, may misinterpret the meaning of the questions and give misleading responses; which may affect the overall investigation. The customer may not be truthful and would not understand the meaning of this questionnaire as it would only waste their time, in addition if the questions are about the existing system; they would not have an ounce of idea because of convolution technical terms. Another problem is that people forget to fill them in and response rate from posted surveys is often poor.
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14) When developing a new computer system, a systems analyst will have to investigate to produce the feasibility report. Describe what will be investigated in order to produce this report. 									[5]
To ensure that it is an attainable resolution and has the utmost viability, after the existing system is investigated, a feasibility report must be produced.
User requirements should be identified (aims and objectives) of the investigation should be inquired.
The investigation will start with Details of the specs of existing hardware and software.  Contemplate technical issues including: do they have equipment to implement; do they have in-house technical expertise; are there compatibility issues with existing systems 
Exclusively, the Definition of the scope of the present system should be included – this ensures that everyone is clear about the present system’s capabilities and limitations. The scope will ultimately determine the size and complexity of the proposed project. Included in the scope are details of organisation charts, sources of data and methods of data capture.
One must take into consideration operational issues including: impact on day to day work; what training will be required; will re-structuring be necessary; security; other logistic and practical issues
Bear in mind of major data processing functions and processes (data flow) – the context diagram which shows how data flows between the systems to the external organisations and mechanisms.
Finally, the report should take into account the reality of economics; cost benefit analysis of the new system, cost implications in terms of human resources, consultancy fees, training requirements, hardware upgrading, payment to third party providers, licences and fees. Reflect on Conclusion, potential improvements that are attainable and benefits of the new system..



15) Once a new computer system has been designed, it has to be implemented. Discuss two different changeover strategies that an organisation could use for conversion to the new system.								 [6]

Phased conversion – This is where a module at a time can be converted to the new system in phases until the entire system is transferred. Advancement in this type of conversion is   that IT staff can deal with problems caused by a module before moving on to new modules.   Whereas the hindrance is that it is only suitable for systems consisting of separate modules. 

Pilot conversion – this method is ideal for large organisations that have a wide area of locations or branches where the new system can be used by one branch and then transferred to other branches over time. A benefit of this is that the implementation is on a much smaller and manageable scale. 
On the contrary, the inconvenience of this is the fact that is that is takes longer to implement the system in all the branches, which immobilizes the progression of the organisation. 

16) Once the new computer system is up and running, it has to be maintained. Describe two different system maintenance methods and illustrate each method with appropriate examples. 							[6]

iii. Perfect maintenance – is where they are improving the performance of the software. Such examples include the fact that software may need to be modified to improve the user interface upon feedback from staffs who are finding it more difficult to use than it needs to be. Or performance wise, configuring the network management software to improve performance such as improving access times to data, speed at which reports are produced, and thus allows the staff to complete the task at hand.
iv. Adaptive maintenance – software may need to be changed owing to the changing needs of the doctor’s capabilities. Maintenance for adapting the software to work with newly developed operating systems software, because of a change in legislation that certain systems need altering in such cases, as news of an emergence of a new virus threat for supermarkets means that their software will need to be adapted to protect against this. The supermarket expands so the software needs to be altered so it is able to cope with an increased number of users/departments/functions/branches, etcetera. 
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13) A systems analyst is called in to give advice after a new ICT system is implemented.
Describe, using examples, four maintenance issues that could have arisen. 						[8]

The proficiency of the hardware and software is unsatisfactory - Staffs are disgruntled with the hardware / software because the system is not functioning at an acceptable speed, which is resulting into the catastrophic deterioration of the organisation.

Identification of errors – there appears to be bugs and conflicts with other software particularly virus checkers and firewalls, since the system has not been thoroughly tested. These are the kind of errors that needs to be identified and corrected.

Security issues – There has been a security breach because of weakness spotted in the software being, as a consequence of this, the organization is now more prone to be targeted by viruses and hackers. A system analyst is called in to re-code the security software.

Changes in the business environment - expansion is changing role of the company, the software needs to be altered to adapt to the revolution.
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13) During the design phase of the system development life cycle many issues need to be considered. Other than design of hardware, describe in detail four features or processes which should be considered when designing a new computer system. [8]

Cba anymore, here’s the Markscheme

6-8 marksCandidates give a clear, coherent answer fully and accurately describing four features or
processes. They use appropriate terminology and accurate spelling, punctuation and grammar.
3-5 marks Candidates briefly describe features or processes, but responses lack clarity. There are a few
errors in spelling, punctuation and grammar.
1-2 marks Candidates simply list a few features or processes or give a brief description of one. The
response lacks clarity and there are significant errors in spelling, punctuation and grammar.
0 marks No appropriate response.
Indicative content
features/processes (4x1), further detail/expansion (4x1)
Creating the design specification for software
Design of input methods. This will include the design of forms (data capture / on-screen / switchboard)
used to input data
Design of processes – queries, macros, calculations
Design of output - reports / specialist documents such as invoices, payslips, etc.
Design of data and file structures that will allow a useable system to be built. This will include the
design of fields and table structure for a relational database.
Design of information systems that will allow users to get relevant information out of the system, which
will allow them to make appropriate decisions. (DFD’s / ERD’s)
Design of networks and transmission issues such as topology, type of cable, protocols, etc.
Personnel issues. Staff will need training and departments reorganising, skill level of the user
Security processes and procedures i.e. registering with the Information Commissioner, where data is
stored, access levels, design of backup procedures, etc.
Design of House style/ethos
Marking Guidance
Up to four of the marks in question 13 are allocated for the quality of written communication in candidate
responses.
Using the indicative content in the mark scheme look for up to eight points whether features, processes
or examples from the indicative content for question 13.
Place a tick in the body of the answer against each point.
Read through the whole answer and consider the use of terminology. If not appropriate drag the
comment Terminology from the Component Comments tab at the top left of your screen onto the script
image. Delete one of your ticks.
Read through the whole answer and consider spelling. If more than three different errors drag the
comment Spelling from the Component Comments tab at the top left of your screen onto the script
image. Delete one of your ticks.
Read through the whole answer and consider punctuation. If more than three different errors drag the
comment Punctuation from the Component Comments tab at the top left of your screen onto the script
image. Delete one of your ticks.
Read through the whole answer and consider the grammar. If more than three different mistakes drag
the comment Grammar from the Component Comments tab at the top left of your screen onto the script
image. Delete one of your ticks.
Do not reduce the mark to less than 2.
Refer back to the mark bands above the indicative content to check that the mark you have arrived at is
consistent with the bands and adjust if necessary.

Question H. 
Q14 A systems analyst has just designed a new ICT system for an organisation.
Discuss two of the different changeover strategies that the organisation could use for conversion to the new system. [6] Section 1 June 2011
Q15. After the new system is working, it will have to be maintained. Describe two different methods of system maintenance, illustrating each method with an appropriate distinct example. [6] Section 1 June 2011
Question J. 
A public library in a large town uses a relational database for their book lending system. When a borrower takes out a book, the loan is recorded. 
Relational databases hold the data in a number of tables. In this library system there is a table for Borrower, which is partially shown below: 

BORROWER[BorrowerID, Surname, Firstname....]
Where BorrowerID is the primary key

Q17. Explain what is meant by a primary and a foreign key [2] Section 2 June 2011

Q18. Give two other suitable tables, you would expect to see in this library loan system, identifying any primary or foreign keys. [7] Section 2 June 2011

Q19. Give three reasons why relational databases are more secure than the flat file approach. [3] Section 2 June 2011
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